6 5 b | 3 2 1
‘ BOM LIST
ITEM PART NAME Q'ty NOTES
1 PLASTIC HOOD 2 SEE P/N
b ) LONG BOLT 2 #a—40 .
SHORT BOLT 2 #4-40
3 NUT 2 M3
4 LONG SCREW 2 M3
5 SMALL WASHER 2
6 SHORT SCREW 2 M3
7 METAL WASHER 2 M3
9.70,
= ®
14.3+0.5
| 1.8
/ UNC#4—40
C | TN\ (
T
o o Short BOLT
To/Ie' {7
NUT  t=2.3mm B
12.05 LONG SCREW
4.8
13.70 5 ‘
B ; B
4—40 UNC = l o
‘ i
E=A— s |%‘ SMALL WASHER
6.610.5 b
- H  —
44 4
8
Long BOLT
SHORT SCREW
ITEM | NAME OF PART NO. OF PART Q"Ty MATERIAL NOTE
A Total Pitch Tolerances Nominal dimension range L - // DWG SK DATE SIZE | AL | UNITS| mm | SHEET/OF | 1/1 |A
in mm in mm -
over | over | over | over | over | over | over | over | over | over | over | over | over | over |over |over |over |over |over over | aver (HK DATE — SCALE
0 |30 | S370 |90 | 115|150 {250 |350 [ 0 | 30| 53|70 | %0 |115 |150 [200 |250 | 0 |V 0 | 100 [OVer AP DATE -
;([)] Eg ;8 ;(? %[5) WTSE()) ;SU ;500 QOOU ;UO Eg ;((]j ;g Lg Wf;[]] ;(?O ;500 ;200 200 ! ! Wt]?) WE[()) " NAME D-8UB Pestic Hood 1807Y 37 Positons
KEEN SIDE
+£0.18(7.20 |£0.25[£0.3 [+0.35[?.44 [x0.6010.70[7.85 {+0.20/£0.25[0.301£0.35[£0.4 40 55[0.70[+0.80£0.90] 0.2 |03 |03 0.2 |0.3 |05 | electronics DWGNO

6

5

2



lin17
Штамп


